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#include<bits/stdct+.h>
using namespace std;

int a[1205],b[10085],c[1085];
char s1[1885],s2[1€85];

int main()

freopen("addition.in","r",stdin);
freopen({"addition.out™,"w",stdout);
int n;

cinrrny»slsrs?;

int l=strlen(sl);

for(int i=@;i<l;i++)

if(s1[i]»="a"&&s1[i]<="z") a[l-i]=s51[1i]-87;
else a[l-i]=s1[i]-48;

l=strlen(s2);

for(int i=@;i<l;i++)

if(s2[i]>="a"&Rs2[i]<="z") b[1-i]=s2[i]-87;
else b[1l-i]=s2[i]-48;

l=max(strlen(sl),strlen(s2));

for(int i=1;i<=1;i++)

c[i]+=a[i]+b[i];
c[i+1]=c[i]/n;
c[i]%=n;

if(c[1+1]) 1++;
for(int i=1;i»@;i--)
if(c[i]»2) cout<<char(c[i]4+87) ;
else cout<<c[i];
J// cout<<endl;
return 8;
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#include<bits/stdc++.h>

using namespace std;

int n,k,a[1e8ee1],b[1080@1],ans=0;
int main()

{
freopen(”singing.in™,"r",stdin);
freopen(“singing.out”,"w",stdout);
cinzrnzrlk;
for (int i=1j;i<=n;i++){
cinr»a[i];
sort{a+l,atl+n);
for (int i=1;i<n;i++){
b[i]=a[i+1]-a[i];
: sort(b+1l,ben);
7 for (int i=1;i<=k;it++){
ans+=b[i];
cout<<ans;
return 8;
}
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#include<bits/stdc++.h>
using namespace std;

int main{ )}{
freopen{"candy.in","r",stdin);
freopen("candy.out™,"w",stdout);

long long n,l,r;
cinzznes>lesrg
if( r-1+41»=n ) cout<<n-1;
else
if( 1%n <= r¥n ) cout<<ri¥n;
else cout<<n-1;



